
5

it

JyYdzdy=ziExyn dxdy
_-y -*-by dady = SE-2x2 -Pyrdxly
=-E -Pyzx)/y = Jy - 1893 -123) dy
= IR4y -30y3)/dy = 12yz) -By = 24 -30 = E6



#. 5 Sin : OXXI
-

Kyoy-E
Ozay 0xz) .

Ya

"
as jydzdx b) dydde 4dydz

DjJdxdedy elgdzddy



15 Findthe volume ofthesolid SoLdydx
(0,0,4)

-
-z4

-xz-

y =&*

Y dy
(0,4,0)

(2,0,0
↑
y
=4-x2 =-x2- y) dydx

: First octant, so xiy ,z2, 0 .

Whenz=
y
=u, x= 2 =4y-xry -zyz/]=xdxz= x= 0 , y

=4

x=y
=0
, z= 4

z=0 = y=
4 -x = [4(4-x2) - x(4-xz) -2(4- x44)dx

Z

= (6-4x2y + x4 - 8+X -Ex4dx = j8-4x+2x4)dx =1)



15

Volume-gdzdydx=dydx =j
So
, Aug. Value=-)dzdy=z+yz-z)dydx

I

= I)](2x+2y- 2)dydx = =](xy+ y -zy)(dx = &(2x- 1dx
= I(x2-x) =T



#5

thi Sojxzeyds
· jyxzezydxdydz =jj6zezyz/dydz=Gzydydz
= zezydzdz=-e
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a
M=SSGyldA =jDexdy

= G (y+y ((y- yt - ytdy
I

= Stay+zydy = (yi-zyp =

E.
I

y2x2y-yz Mx= yydA =gyxdy=((yzy) (zy-2ytdy
Oxy) .

=jayz-(4)dx=
My=/x SkydA=gy(ytDdxdy=f (y+Dxydy =f(y+D((y-yt- y4) dy



= /zyz-2y4)dy=i
so CentreofMass= (x,j)=(,) )
Moment ofInertia about X-axis
Ex=Jy( ,y)dA =jg(y+1)excy=S(ya-2y)dy =E



14.6

Sea
(3,-2,8)

↑
2

·
(0,0,0) .S

3 (+5) -y -+z) +3(3y+E-59dydx
↳
E ·13).Sin : -3xx[3 , -25 y+4

· =
-Y



[yzdzdydx=y+5) -x(5) +y+-5) dydx
-y+dx = (ax+8dx =E

Iztydzdydx=y (zy+5) dydx

-dydd
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x=v
Sin : D= ((x ,y ,z)eR3

: -

Kyr),Xy,Ozx] _,
In cylindrical coordinates
D = [Cressa, rsmit ,z) ER , OprE),A , OxzrosPlane z=X above -

xy= r2 .

Sojydzdydndzdrezere



=Frustdreusta =E



1.7

son: a) In spherical coordinates
D=)(peostsing ,printsind,posp) : 12pHosp ,Oxp, OXa2]
So=Hedpd



3) V,ddand
) +30 + 05%)sida

us+365+)drift



#

Both : Use cylindrical coordinates :
D=S (rest , ismit , z) : Ora-best , Ozer,A

Then Verdzdreltolndt
S

-92di-s
=R


